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QUESTION 1

Which method would be the most beneficial to protect the cluster when faced with intermittent network issues on the
private heartbeat links? 

A. Implement Quorum resource to protect heartbeat links 

B. Implement a low-pri heartbeat on the public NIC in the configuration 

C. Implement a Steward Process to watch the private heartbeats in the environment 

D. Implement a Virtual Business Service to provide arbitration across cluster nodes 

Correct Answer: B 

 

QUESTION 2

What occurs when an administrator runs the command hastop -all -force? 

A. LLT and GAB are brought offline on all cluster nodes. 

B. Applications are brought offline, and the cluster stops. 

C. HAD and hashadow processes are stopped on all cluster nodes. 

D. All applications are forcibly brought offline, but the cluster remains online. 

Correct Answer: C 

 

QUESTION 3

Veritas Cluster Server (VCS) includes a disk-based I/O fencing mechanism. 

Thinking specifically about data disks, which two cluster configuration requirements must be met to implement this?
(Select two.) 

A. The application using the disks must be managed by a VCS Application resource type. 

B. The disks must be in a Veritas Volume Manager disk group. 

C. The service group containing the disks must include an IP resource. 

D. The disks must be managed by a VCS DiskGroup resource type. 

E. The disks must contain at least one *.dbf file. 

Correct Answer: BD 

 

QUESTION 4
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What is a purpose of running a virtual fire drill? 

A. To test that a specific system in the cluster is a viable failover target 

B. To test disaster recovery by switching the service group to the failover target 

C. To carry out the one-time configuration tasks required for the service group 

D. To test the service group configuration by copying it into the VCS Simulator 

Correct Answer: A 

 

QUESTION 5

Which Veritas Cluster Server command should be used to change OnlineRetryLimit for all Mount resources? 

A. haattr 
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B. hagrp 

C. hatype 

D. haagent 

Correct Answer: C 
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